WERDILT [FERi264ERE])

&S| S01905 |em e |HaBR i S BT £ 2329% 1 |
MEERB | SR s ARk (R A—IL) GRTILAA—)L (K EE))
e E}E%Eﬁ%&x%—»&lﬁ%‘ﬂﬂﬂﬂé@%@ﬁﬁﬁﬁ e g TR 64
HELEE | EXRREN SARRE HMERS 12 N FABE
m é i RS E AL RRAESEOOBERIRL. fe TSR LB, X
: U B e a0 EES Y T OEMLICE T 2.,
RERE B FA i i 150 55 X 54+ B EIS (IREE ) 40 &
+i [BupmEHE 10530.00 m |FAE| i B0 - (B 100 —
BMAEH|RTILAA—)L (KEE) Wil SE Y —h-dh B4R - T ORE
*t-3| A& RTIL BEEAA 927,080,000 F4
B |ErEs 3311.68 m mEE i |mEs| FimER
HEBY (EEER) | FE | miEws (= ER) | FE
® gﬁiﬁ EEEE REY BEASE ZH ()
B2 (psria| FHR265E MERFLIE—  |ZEAE-AEEARAS—REIS 8,627,040 F
%LE% FRB0ERE HHXHts— |(BEXRESERAR/S—REBEISE 7,000,000 [
| 3%
= 00
0 &
YR - R L X IS E
TE-BEELOMES
BIE. $ia. GRZIHITAE
12 DB R LSRRI
LBEET REHIF
| R in15:00 out10:00 REER BEEE EE A e EE
ERMM GEEEROSS) | B | TH23E481H | =| TH28%3831H
BEE-EEEA| WRSEARENH | £BNE (EEEBEEHECLIEROEEEE
@;2 ERWE| 001 A[ %B8E | NEZETT NEEELL Al &&t | oor A
2 RoNREERITR BROEE FEISRIRE
E| |MBEERE 0| [EE-=xZga 11,926,286
-4 SBKE EEEBREAH 11,926,286
? REFABREEH ZOHDBRE
% ¥
= 558
B EiEE @it 11,926,286
§ ZOMORE BHEEWA
a| [ EE 72,380 | ¥ |mABBRA
- BE % 72,380 | 5m |ZEDHEARA
EEHBE 0
@/at 72,380 |QERHURA & 0
BEH(@D+@)—Q 11,998,666 A |TR— AH=YDIXK 71.42 H
HFNE i EEHGBEIHE) Hziﬁfﬁﬁ(éﬁﬂi)
: H24 H25 H26 EATTRER | BREE (%)
@ 5538 A 6,453 7,479 8,423
ﬁg HIRY A 42,307 42,142 40,949
?
X [EbmrzAT 50k SRR (=8 58 Mok
YFEC
£I5




HEHDKR

i =
=93 : mE%
. BYAH A me | gER | mmeAn | DR
- X Ri& (#105cm B . ]
s01859| BEREORT BEED K TT NI R (BRE) EHR UD- L 317.82m |6 24 78 58 64,6700008 | FE | 7=
TO
= - #E (4mmid) - : | S S
S01860| BEREORT | e s o AR (BR7) BE BB o) 8| g3eoni |TAL 24 78 5H| 7550000 | FE | FE
A& (H105cm A , ]
s01906|FMAZENE |5 — 2 ExRE BERE ML) 2070nd FHeE48 18 FH | FE | FE
To
BEBTRAE ST ]
S01907| “h—(xi- |EBHR it A—(AAE) RT I A mom | 1.077.83n7 | Ak 4% 78 108(312,0000008| FE | FE
L)
BERTRAL , ) 1
S01908| Yh— (e | BT EE T S— (RIAE) ™I BEAmIE) S| 20300 | T 9% 3A31A|80897,250F | FE | FE
)
sote7a| *L AN e foTE wwz  (BUI0b | ioond |wmosnAsE| R | FE | FE

-3 b B - 0 TR

-3 b B - 3 TR

-3 b B - 0 TR

-3 b B - 3 TR

-3 b B - 4 TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3h b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

- b B - TR

-3 b B - 3t TR

- _E B - 0 TR

-3 b B - 3t TR

- b - 1 T RS




